
 

1
H (δ,ppm)  

13
C (δ,ppm)  NOE free  

NH1 8.42 / 
 

H3 4.29 59.00 Ar(w), H2C-Ar(w) 

H6 4.44 51.40 
 

H7 2.83/3.06 37.66 NHLeu(m) 

H9 3.52/3.74 40.90 Ar(w) 

NH10 8.54 / 
 

αAsp 4.06 51.20 NHtBu(w), tBu(w) 

βAsp 2.40/2.60 37.74 
 

NHIle 8.11 / H7(m) 

αIle 3.94 58.50 NHtBu(m) 

βIle 1.69 36.40 
 

1Ile 1.12/1.40 24.90 
 

δIle 0.79 9.66 Ar(w) 

2Ile 0.84 14.58 
 

NHtBu 7.65 / αAsp(w), αIle(m), βIle(w), 2Ile(w) 

tBu 1.23 27.98 
 

H2C-Ar 4.63 
 

H3 

Ar 7.30 128.40 H9(w), 2Ile(w) 

 


